HEFEREF 2-3FEDER

FiE
A EFA =S 3 |BE| & | X |IEL
1 |- =T - Kl FE| K- @ 1
2 |B| £ - Ak HE| KEE 1 3
3 niE oER - KB Rk AR 2
FiE
B EFA iz 6 7 |BE| & | X | IR
4 | AE £8 - 28 %2 3l @ | @ 1
5 | BE - RE PFY AER @ | @ 2
6 PN #ED - BB E| AfSH @ 3
7 |EmE £8 - =R %% EfE 2 4
FiE
C EBF A e 10 [BE| & | X |IE
8 |tehl =@ - & E EE @ 1
9 |BE £R - ME KSER| AEE 0 3
10 |16 <ok - B 85| KEER 2
REE—Y
REER EF A e C |ME| & | &£ |IEL
A1fI| —8 =% - X 5% | KEE— 7 4 1
B1fi| am =8 - 22 =2 | EiF 1 5 7 3
C14L| wenl =m - &% %5 | EIF 4 5 2




